

Generalizations of operator Shannon inequality based on Tsallis and Rényi relative entropies

前橋工科大学* 伊藤 公智 (Masatoshi Ito)
前橋工科大学* 伊佐 浩史 (Hiroshi Isa)
亀井 栄三郎 (Eizaburo Kamei)
前橋工科大学* 遠山 宏明 (Hiroaki Tohyama)
前橋工科大学* 渡邊 雅之 (Masayuki Watanabe)
(* Maebashi Institute of Technology)

Abstract

Furuta obtained an operator version of celebrated Shannon inequality. We call this operator Shannon inequality briefly. Extensions of operator Shannon inequality were discussed by Furuta and Yanagi-Kuriyama-Furuichi.

In this report, we shall show relations among relative operator entropies of sequences including operator Shannon inequality as follows: For relative operator entropy $S(\mathbb{A}|\mathbb{B})$, Rényi relative operator entropy $I_t(\mathbb{A}|\mathbb{B})$ and Tsallis relative operator entropy $T_t(\mathbb{A}|\mathbb{B})$ of sequences of strictly positive operators $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ such that $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$,

$$S(\mathbb{A}|\mathbb{B}) \leq I_t(\mathbb{A}|\mathbb{B}) \leq T_t(\mathbb{A}|\mathbb{B}) \leq 0$$

holds for $0 < t < 1$. Moreover, we shall discuss two generalizations of this inequality by considering generalizations of relative operator entropies of sequences.

1 Introduction

This report is based on [4, 6]. In this report, an operator means a bounded linear operator on a Hilbert space $\mathcal{H}$. An operator T is said to be positive (denoted by $T \geq 0$) if $(Tx, x) \geq 0$ for all $x \in \mathcal{H}$, and also an operator T is said to be strictly positive (denoted by $T > 0$) if T is positive and invertible.

In [1], for $A, B > 0$, relative operator entropy was defined by

$$S(A|B) \equiv A^{\frac{1}{2}} \log(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}) A^{\frac{1}{2}}.$$

We remark that $S(A|I) = -A \log A$ is operator entropy given by Nakamura-Umegaki [7]. For $A, B > 0$ and $t \in \mathbb{R}$, Furuta [2] introduced generalized relative operator entropy

$$S_t(A|B) \equiv A^{\frac{1}{2}} (A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^t \log(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}) A^{\frac{1}{2}},$$

where $A \sharp_t B = A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^tA^{\frac{1}{2}}$ for $0 \leq t \leq 1$. We can treat the weighted geometric mean $A \sharp_t B$ as a path from A to B . We remark that $S_t(A|B)$ can be considered as a tangent at t of $A \sharp_t B$, and also $S_0(A|B) = S(A|B)$. Tsallis relative operator entropy was introduced by Yanagi-Kuriyama-Furuichi [8] as follows: For $A, B > 0$ and $0 < t \leq 1$,

$$T_t(A|B) \equiv \frac{A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^tA^{\frac{1}{2}} - A}{t} = \frac{A \sharp_t B - A}{t}.$$

We remark that

$$T_0(A|B) \equiv \lim_{t \rightarrow +0} T_t(A|B) = S(A|B)$$

since $\lim_{t \rightarrow +0} \frac{x^t - 1}{t} = \log x$ for $x > 0$, and also the definition of $T_t(A|B)$ can be extended for $t \in \mathbb{R}$.

Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators. In [4, 6], we define relative operator entropy $S(\mathbb{A}|\mathbb{B})$, generalized relative operator entropy $S_t(\mathbb{A}|\mathbb{B})$, Tsallis relative operator entropy $T_t(\mathbb{A}|\mathbb{B})$ and Rényi relative operator entropy $I_t(\mathbb{A}|\mathbb{B})$ of two sequences $\mathbb{A}$ and $\mathbb{B}$ as follows: For $0 \leq t \leq 1$,

$$\begin{aligned} S(\mathbb{A}|\mathbb{B}) &\equiv \sum_{i=1}^n S(A_i|B_i), \quad S_t(\mathbb{A}|\mathbb{B}) \equiv \sum_{i=1}^n S_t(A_i|B_i), \\ T_t(\mathbb{A}|\mathbb{B}) &\equiv \sum_{i=1}^n T_t(A_i|B_i) \quad \text{and} \\ I_t(\mathbb{A}|\mathbb{B}) &\equiv \frac{1}{t} \log \sum_{i=1}^n A_i \sharp_t B_i \quad (\text{if } t \neq 0). \end{aligned}$$

In this report, we assume $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. We remark that

$$I_0(\mathbb{A}|\mathbb{B}) \equiv \lim_{t \rightarrow +0} I_t(\mathbb{A}|\mathbb{B}) = S(\mathbb{A}|\mathbb{B})$$

follows from (2.1) stated below.

On the other hand, for two probability distributions $p = (p_1, p_2, \dots, p_n)$ and $q = (q_1, q_2, \dots, q_n)$, relative entropy is defined by $D(p|q) \equiv \sum_{i=1}^n p_i \log \frac{p_i}{q_i}$, and also it is well known that $-\sum_{i=1}^n p_i \log p_i \leq -\sum_{i=1}^n p_i \log q_i$ holds. This inequality is called Shannon inequality, and it is equivalent to $D(p|q) = -\sum_{i=1}^n p_i \log \frac{q_i}{p_i} \geq 0$.

In [2], for two sequences of strictly positive operators $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$, Furuta obtained the operator version of Shannon inequality (briefly, operator Shannon inequality).

$$S(\mathbb{A}|\mathbb{B}) \leq 0. \tag{1.1}$$

Yanagi-Kuriyama-Furuichi [8] obtained a generalization of (1.1) by using Tsallis relative operator entropy of sequences.

$$T_t(\mathbb{A}|\mathbb{B}) \leq 0 \quad \text{for } 0 < t \leq 1. \quad (1.2)$$

In this report, we shall show relations among relative operator entropies of sequences $S(\mathbb{A}|\mathbb{B})$, $S_t(\mathbb{A}|\mathbb{B})$, $T_t(\mathbb{A}|\mathbb{B})$ and $I_t(\mathbb{A}|\mathbb{B})$, which include operator Shannon inequality. Moreover, we shall discuss two generalizations of this result by considering generalizations of $S_t(\mathbb{A}|\mathbb{B})$, $T_t(\mathbb{A}|\mathbb{B})$ and $I_t(\mathbb{A}|\mathbb{B})$.

2 Relations among operator entropies of sequences

In this section, as relations among relative operator entropies of sequences, we obtain the following inequalities including (1.1) and (1.2).

Theorem 2.1 ([4]). *Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. Then*

$$S(\mathbb{A}|\mathbb{B}) \leq I_t(\mathbb{A}|\mathbb{B}) \leq T_t(\mathbb{A}|\mathbb{B}) \leq 0, \quad (2.1)$$

$$0 \leq -T_{1-t}(\mathbb{B}|\mathbb{A}) \leq -I_{1-t}(\mathbb{B}|\mathbb{A}) \leq S_1(\mathbb{A}|\mathbb{B}) \quad (2.2)$$

and

$$T_t(\mathbb{A}|\mathbb{B}) \leq S_t(\mathbb{A}|\mathbb{B}) \leq -T_{1-t}(\mathbb{B}|\mathbb{A}) \quad (2.3)$$

hold for $0 < t < 1$.

In order to prove Theorem 2.1, we use the following lemma.

Lemma 2.2 ([4]). *Let $A, B > 0$. Then the following properties hold:*

- (i) $S(A|B) \leq T_t(A|B) \leq S_t(A|B)$ for $t > 0$.
- (ii) $S_t(A|B) = -S_{1-t}(B|A)$ for $t \in \mathbb{R}$.
- (iii) $S_1(A|B) = -S(B|A)$.

Proof. We have (i) since $\log x \leq \frac{x^t-1}{t} \leq x^t \log x$ for $x > 0$.

We have (ii) since

$$\begin{aligned}
-S_{1-t}(B|A) &= -B^{\frac{1}{2}}(B^{-\frac{1}{2}}AB^{-\frac{1}{2}})^{1-t}\log(B^{-\frac{1}{2}}AB^{-\frac{1}{2}})B^{\frac{1}{2}} \\
&= A^{\frac{1}{2}}A^{-\frac{1}{2}}B^{\frac{1}{2}}(B^{\frac{1}{2}}A^{-1}B^{\frac{1}{2}})^{t-1}\log(B^{\frac{1}{2}}A^{-1}B^{\frac{1}{2}})B^{\frac{1}{2}}A^{-\frac{1}{2}}A^{\frac{1}{2}} \\
&= A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^{t-1}\log(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})A^{\frac{1}{2}} \\
&= A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^t\log(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})A^{\frac{1}{2}} \\
&= S_t(A|B).
\end{aligned}$$

We have (iii) by putting $t = 1$. Hence the proof is complete. $\square$

Jensen's operator inequality [3] plays an important role to prove results in this report.

Theorem 2.A (Jensen's operator inequality [3]). *Let $f(x)$ be an operator concave function on an interval J . Let $\{C_i\}_{i=1}^n$ be operators with $\sum_{i=1}^n C_i^* C_i = I$. Then*

$$f\left(\sum_{i=1}^n C_i^* A_i C_i\right) \geq \sum_{i=1}^n C_i^* f(A_i) C_i$$

holds for every selfadjoint operators $\{A_i\}_{i=1}^n$ whose spectra are contained in J .

Proof of Theorems 2.1. Since $f(x) = \log x$ is operator concave for $x > 0$, by using Theorem 2.A, we have that

$$\begin{aligned}
I_t(\mathbb{A}|\mathbb{B}) &= \frac{1}{t} \log \sum_{i=1}^n A_i^{\frac{1}{2}} (A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^t A_i^{\frac{1}{2}} \\
&\geq \frac{1}{t} \sum_{i=1}^n A_i^{\frac{1}{2}} \log(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^t A_i^{\frac{1}{2}} \\
&= \sum_{i=1}^n A_i^{\frac{1}{2}} \log(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}}) A_i^{\frac{1}{2}} = S(\mathbb{A}|\mathbb{B}).
\end{aligned}$$

Since $\log x \leq x - 1$ for $x > 0$, we have

$$\begin{aligned}
I_t(\mathbb{A}|\mathbb{B}) &= \frac{1}{t} \log \sum_{i=1}^n A_i^{\frac{1}{2}} (A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^t A_i^{\frac{1}{2}} \\
&\leq \frac{1}{t} \left[\sum_{i=1}^n A_i^{\frac{1}{2}} (A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^t A_i^{\frac{1}{2}} - I \right] = T_t(\mathbb{A}|\mathbb{B}).
\end{aligned}$$

Since $\frac{x^t-1}{t} \leq x-1$ for $x > 0$ and $0 < t < 1$, we have

$$\begin{aligned} T_t(\mathbb{A}|\mathbb{B}) &= \frac{1}{t} \left[\sum_{i=1}^n A_i^{\frac{1}{2}} (A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^t A_i^{\frac{1}{2}} - I \right] \\ &= \sum_{i=1}^n A_i^{\frac{1}{2}} \frac{(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^t - I}{t} A_i^{\frac{1}{2}} \\ &\leq \sum_{i=1}^n A_i^{\frac{1}{2}} (A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}} - I) A_i^{\frac{1}{2}} \\ &= \sum_{i=1}^n (B_i - A_i) = 0. \end{aligned}$$

Therefore we obtain (2.1).

By (2.1),

$$S(\mathbb{B}|\mathbb{A}) \leq I_{1-t}(\mathbb{B}|\mathbb{A}) \leq T_{1-t}(\mathbb{B}|\mathbb{A}) \leq 0$$

holds for $0 < t < 1$, so that we have (2.2) by (iii) in Lemma 2.2.

We also have (2.3) since

$$T_t(\mathbb{A}|\mathbb{B}) \leq S_t(\mathbb{A}|\mathbb{B}) = -S_{1-t}(\mathbb{B}|\mathbb{A}) \leq -T_{1-t}(\mathbb{B}|\mathbb{A})$$

by (i) and (ii) in Lemma 2.2. Hence the proof is complete. $\square$

3 A generalization of operator Shannon inequality

Next, we discuss a generalization of Theorem 2.1. For $A, B > 0$, $0 \leq t \leq 1$ and $-1 \leq r \leq 1$, power mean

$$A \sharp_{t,r} B = A^{\frac{1}{2}} \{ (1-t)I + t(A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^r \}^{\frac{1}{r}} A^{\frac{1}{2}}$$

is well known as a path of operator means from harmonic mean to arithmetic mean on r . In fact,

$$\begin{aligned} A \sharp_{t,-1} B &= \{ (1-t)A^{-1} + tB^{-1} \}^{-1} = A \Delta_t B, \\ A \sharp_{t,0} B &\equiv \lim_{r \rightarrow 0} A \sharp_{t,r} B = A^{\frac{1}{2}} (A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^t A^{\frac{1}{2}} = A \sharp_t B, \\ A \sharp_{t,1} B &= (1-t)A + tB = A \nabla_t B. \end{aligned}$$

In [5], we introduce generalizations of $S_t(A|B)$ and $T_t(A|B)$ as follows: For $A, B > 0$, $0 \leq t \leq 1$ and $-1 \leq r \leq 1$,

$$\begin{aligned} S_{t,r}(A|B) &\equiv A^{\frac{1}{2}} \left(\{ (1-t)I + t(A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^r \}^{\frac{1}{r}-1} \cdot \frac{(A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^r - I}{r} \right) A^{\frac{1}{2}}, \\ T_{t,r}(A|B) &\equiv \frac{A^{\frac{1}{2}} \{ (1-t)I + t(A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^r \}^{\frac{1}{r}} A^{\frac{1}{2}} - A}{t} = \frac{A \sharp_{t,r} B - A}{t}. \end{aligned}$$

Similarly to $S_t(A|B)$, we can treat $A \sharp_{t,r} B$ as a path from A to B on t , and also $S_{t,r}(A|B)$ can be considered as a tangent at t of $A \sharp_{t,r} B$. We remark that the following properties hold (see [5]).

$$\begin{aligned} S_{0,r}(A|B) &= T_r(A|B), \quad S_{t,0}(A|B) \equiv \lim_{r \rightarrow 0} S_{t,r}(A|B) = S_t(A|B), \\ T_{0,r}(A|B) &\equiv \lim_{t \rightarrow +0} T_{t,r}(A|B) = T_r(A|B) \quad \text{and} \quad T_{t,0}(A|B) = T_t(A|B). \end{aligned}$$

Then we can generalize $S_t(\mathbb{A}|\mathbb{B})$, $T_t(\mathbb{A}|\mathbb{B})$ and $I_t(\mathbb{A}|\mathbb{B})$ as follows:

Definition 1 ([6]). Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. For $0 \leq t \leq 1$ and $-1 \leq r \leq 1$,

$$\begin{aligned} S_{t,r}(\mathbb{A}|\mathbb{B}) &\equiv \sum_{i=1}^n S_{t,r}(A_i|B_i), \quad T_{t,r}(\mathbb{A}|\mathbb{B}) \equiv \sum_{i=1}^n T_{t,r}(A_i|B_i), \\ I_{t,r}(\mathbb{A}|\mathbb{B}) &\equiv \frac{1}{t} \log \sum_{i=1}^n A_i \sharp_{t,r} B_i \quad (\text{if } t, r \neq 0), \\ I_{0,r}(\mathbb{A}|\mathbb{B}) &\equiv \lim_{t \rightarrow +0} I_{t,r}(\mathbb{A}|\mathbb{B}) \quad \text{and} \quad I_{t,0}(\mathbb{A}|\mathbb{B}) \equiv \lim_{r \rightarrow 0} I_{t,r}(\mathbb{A}|\mathbb{B}) = I_t(\mathbb{A}|\mathbb{B}). \end{aligned}$$

In this section, we obtain the following relations among $S(\mathbb{A}|\mathbb{B})$, $T_{t,r}(\mathbb{A}|\mathbb{B})$ and $I_{t,r}(\mathbb{A}|\mathbb{B})$. (3.1) and (3.2) in Theorem 3.1 imply (2.1) and (2.2) in Theorem 2.1 by letting $r \rightarrow +0$, respectively.

Theorem 3.1 ([6]). Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. Then

$$S(\mathbb{A}|\mathbb{B}) \leq I_{t,r}(\mathbb{A}|\mathbb{B}) \leq T_{t,r}(\mathbb{A}|\mathbb{B}) \leq 0 \quad (3.1)$$

and

$$0 \leq -T_{1-t,r}(\mathbb{B}|\mathbb{A}) \leq -I_{1-t,r}(\mathbb{B}|\mathbb{A}) \leq S_1(\mathbb{A}|\mathbb{B}) \quad (3.2)$$

hold for $0 < t < 1$ and $0 < r \leq 1$.

The inequalities (3.1) and (3.2) hold partially even in the case $-1 \leq r < 0$.

Theorem 3.2 ([6]). Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. Then

$$I_{t,r}(\mathbb{A}|\mathbb{B}) \leq T_{t,r}(\mathbb{A}|\mathbb{B}) \leq 0 \quad (3.3)$$

and

$$0 \leq -T_{1-t,r}(\mathbb{B}|\mathbb{A}) \leq -I_{1-t,r}(\mathbb{B}|\mathbb{A}) \quad (3.4)$$

hold for $0 < t < 1$ and $-1 \leq r < 0$.

By the proof of Theorems 3.1 and 3.2, we get the following result on $I_{0,r}(\mathbb{A}|\mathbb{B})$.

Proposition 3.3 ([6]). *Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. For each $-1 \leq r \leq 1$ such that $r \neq 0$,*

$$I_{0,r}(\mathbb{A}|\mathbb{B}) = T_r(\mathbb{A}|\mathbb{B}).$$

Proof of Theorems 3.1 and 3.2. Since $f(x) = \log x$ is operator concave for $x > 0$, by using Theorem 2.A, we have that

$$\begin{aligned} I_{t,r}(\mathbb{A}|\mathbb{B}) &= \frac{1}{t} \log \sum_{i=1}^n A_i^{\frac{1}{2}} \{(1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\}^{\frac{1}{r}} A_i^{\frac{1}{2}} \\ &\geq \frac{1}{t} \sum_{i=1}^n A_i^{\frac{1}{2}} \log \{(1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\}^{\frac{1}{r}} A_i^{\frac{1}{2}} \\ &= \frac{1}{tr} \sum_{i=1}^n A_i^{\frac{1}{2}} \log \{(1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\} A_i^{\frac{1}{2}} \end{aligned} \quad (3.5)$$

for $-1 \leq r \leq 1$ and

$$\begin{aligned} &\frac{1}{tr} \sum_{i=1}^n A_i^{\frac{1}{2}} \log \{(1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\} A_i^{\frac{1}{2}} \\ &\geq \frac{1}{tr} \sum_{i=1}^n A_i^{\frac{1}{2}} \{(1-t) \log I + t \log(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\} A_i^{\frac{1}{2}} \\ &= \sum_{i=1}^n A_i^{\frac{1}{2}} \log(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}}) A_i^{\frac{1}{2}} = S(\mathbb{A}|\mathbb{B}) \end{aligned}$$

for $0 < r \leq 1$.

Since $\log x \leq x - 1$ for $x > 0$, we have

$$\begin{aligned} I_{t,r}(\mathbb{A}|\mathbb{B}) &= \frac{1}{t} \log \sum_{i=1}^n A_i^{\frac{1}{2}} \{(1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\}^{\frac{1}{r}} A_i^{\frac{1}{2}} \\ &\leq \frac{1}{t} \left[\sum_{i=1}^n A_i^{\frac{1}{2}} \{(1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\}^{\frac{1}{r}} A_i^{\frac{1}{2}} - I \right] = T_{t,r}(\mathbb{A}|\mathbb{B}) \end{aligned} \quad (3.6)$$

for $-1 \leq r \leq 1$.

Since $\frac{(1-t+tx^r)^{\frac{1}{r}}-1}{t} \leq x-1$ for $x > 0$ and $-1 \leq r \leq 1$, we have

$$\begin{aligned} T_{t,r}(\mathbb{A}|\mathbb{B}) &= \frac{1}{t} \left[\sum_{i=1}^n A_i^{\frac{1}{2}} \{ (1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r \}^{\frac{1}{r}} A_i^{\frac{1}{2}} - I \right] \\ &= \sum_{i=1}^n A_i^{\frac{1}{2}} \frac{ \{ (1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r \}^{\frac{1}{r}} - I }{t} A_i^{\frac{1}{2}} \\ &\leq \sum_{i=1}^n A_i^{\frac{1}{2}} (A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}} - I) A_i^{\frac{1}{2}} \\ &= \sum_{i=1}^n (B_i - A_i) = 0. \end{aligned}$$

Therefore we obtain (3.1) and (3.3).

By (3.1),

$$S(\mathbb{B}|\mathbb{A}) \leq I_{1-t,r}(\mathbb{B}|\mathbb{A}) \leq T_{1-t,r}(\mathbb{B}|\mathbb{A}) \leq 0$$

holds for $0 < t < 1$ and $0 < r \leq 1$, so that we have (3.2) by (iii) in Lemma 2.2. We also have (3.4) similarly. Hence the proof is complete. $\square$

Proof of Proposition 3.3. By (3.5) and (3.6) in the proof of Theorems 3.1 and 3.2, we have

$$\frac{1}{tr} \sum_{i=1}^n A_i^{\frac{1}{2}} \log \{ (1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r \} A_i^{\frac{1}{2}} \leq I_{t,r}(\mathbb{A}|\mathbb{B}) \leq T_{t,r}(\mathbb{A}|\mathbb{B})$$

for $-1 \leq r \leq 1$. Therefore we get $I_{0,r}(\mathbb{A}|\mathbb{B}) = T_r(\mathbb{A}|\mathbb{B})$ since $T_{0,r}(\mathbb{A}|\mathbb{B}) = T_r(\mathbb{A}|\mathbb{B})$ and

$$\lim_{t \rightarrow +0} \frac{\log(1-t+tx^r)}{tr} = \frac{x^r - 1}{r}$$

for $x > 0$. $\square$

4 Another generalization

In this section, we discuss another generalization of Theorem 2.1. We introduced $S_{t,r}(\mathbb{A}|\mathbb{B})$ as a generalization of $S_t(\mathbb{A}|\mathbb{B})$ in the previous section, but $S_{t,r}(\mathbb{A}|\mathbb{B})$ does not appear in Theorem 3.1. Then we expect that we can generalize (2.1) to

$$S_{0,r}(\mathbb{A}|\mathbb{B}) = T_r(\mathbb{A}|\mathbb{B}) \leq J_{t,r}(\mathbb{A}|\mathbb{B}) \leq T_{t,r}(\mathbb{A}|\mathbb{B}) \leq 0 \quad (4.1)$$

for a suitable generalized entropy $J_{t,r}(\mathbb{A}|\mathbb{B})$ such that $J_{t,0}(\mathbb{A}|\mathbb{B}) = I_t(\mathbb{A}|\mathbb{B})$. From this viewpoint, we introduce another generalization of $I_t(\mathbb{A}|\mathbb{B})$.

Definition 2 ([6]). Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. For $0 < t \leq 1$ and $-1 \leq r \leq 1$ such that $r \neq 0$,

$$J_{t,r}(\mathbb{A}|\mathbb{B}) \equiv \frac{(\sum_{i=1}^n A_i \sharp_{t,r} B_i)^r - I}{tr},$$

$$J_{0,r}(\mathbb{A}|\mathbb{B}) \equiv \lim_{t \rightarrow +0} J_{t,r}(\mathbb{A}|\mathbb{B}) \quad \text{and} \quad J_{t,0}(\mathbb{A}|\mathbb{B}) \equiv \lim_{r \rightarrow 0} J_{t,r}(\mathbb{A}|\mathbb{B}).$$

Firstly we show a relation between $I_{t,r}(\mathbb{A}|\mathbb{B})$ and $J_{t,r}(\mathbb{A}|\mathbb{B})$, two generalizations of $I_t(\mathbb{A}|\mathbb{B})$.

Proposition 4.1 ([6]). Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. Then for each $0 < t < 1$,

- (i) $I_{t,r}(\mathbb{A}|\mathbb{B}) \leq J_{t,r}(\mathbb{A}|\mathbb{B})$ for $0 < r \leq 1$.
- (ii) $J_{t,r}(\mathbb{A}|\mathbb{B}) \leq I_{t,r}(\mathbb{A}|\mathbb{B})$ for $-1 \leq r < 0$.

Proof of Proposition 4.1. Since $\log x \leq \frac{x^r - 1}{r}$ for $x > 0$ and $0 < r \leq 1$, we have

$$\begin{aligned} I_{t,r}(\mathbb{A}|\mathbb{B}) &= \frac{1}{t} \log \sum_{i=1}^n A_i^{\frac{1}{2}} \{(1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\}^{\frac{1}{r}} A_i^{\frac{1}{2}} \\ &\leq \frac{1}{t} \frac{\left[\sum_{i=1}^n A_i^{\frac{1}{2}} \{(1-t)I + t(A_i^{-\frac{1}{2}} B_i A_i^{-\frac{1}{2}})^r\}^{\frac{1}{r}} A_i^{\frac{1}{2}} \right]^r - I}{r} = J_{t,r}(\mathbb{A}|\mathbb{B}), \end{aligned}$$

so that we obtain (i). (ii) is also obtained similarly. $\square$

Next we obtain the following results among $S_{t,r}(\mathbb{A}|\mathbb{B})$, $J_{t,r}(\mathbb{A}|\mathbb{B})$ and $T_{t,r}(\mathbb{A}|\mathbb{B})$. By (ii) in Proposition 4.3, we recognize that Theorem 4.2 implies Theorem 2.1 by letting $r \rightarrow 0$.

Theorem 4.2 ([6]). Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. Then

$$S_{0,r}(\mathbb{A}|\mathbb{B}) = T_r(\mathbb{A}|\mathbb{B}) \leq J_{t,r}(\mathbb{A}|\mathbb{B}) \leq T_{t,r}(\mathbb{A}|\mathbb{B}) \leq 0, \quad (4.1)$$

$$0 \leq -T_{1-t,r}(\mathbb{B}|\mathbb{A}) \leq -J_{1-t,r}(\mathbb{B}|\mathbb{A}) \leq S_{1,r}(\mathbb{A}|\mathbb{B}) \quad (4.2)$$

and

$$T_{t,r}(\mathbb{A}|\mathbb{B}) \leq S_{t,r}(\mathbb{A}|\mathbb{B}) \leq -T_{1-t,r}(\mathbb{B}|\mathbb{A}) \quad (4.3)$$

hold for $0 < t < 1$ and $-1 \leq r \leq 1$ such that $r \neq 0$.

Proposition 4.3 ([6]). Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$.

- (i) For each $-1 \leq r \leq 1$ such that $r \neq 0$, $J_{0,r}(\mathbb{A}|\mathbb{B}) = T_r(\mathbb{A}|\mathbb{B})$.
- (ii) For each $0 < t \leq 1$, $J_{t,0}(\mathbb{A}|\mathbb{B}) = I_t(\mathbb{A}|\mathbb{B})$.

The following lemma is an extension of Lemma 2.2. Lemma 4.4 leads Lemma 2.2 by letting $r \rightarrow 0$.

Lemma 4.4 ([5]). Let $A, B > 0$. Then the following properties hold:

- (i) $S_{0,r}(A|B) \leq T_{t,r}(A|B) \leq S_{t,r}(A|B)$ for $0 < t < 1$ and $-1 \leq r \leq 1$.
- (ii) $S_{t,r}(A|B) = -S_{1-t,r}(B|A)$ for $0 < t < 1$ and $-1 \leq r \leq 1$
- (iii) $S_{1,r}(A|B) = -S_{0,r}(B|A)$ for $-1 \leq r \leq 1$.

We can give proofs of Lemma 4.4 and Theorem 4.2 by the similar way to those of Lemma 2.2 and Theorem 2.1. We omit these proofs.

Lastly we get the following result by combining Theorem 3.1, Theorem 3.2, Proposition 4.1 and Theorem 4.2.

Corollary 4.5 ([6]). Let $\mathbb{A} = (A_1, \dots, A_n)$ and $\mathbb{B} = (B_1, \dots, B_n)$ be sequences of strictly positive operators with $\sum_{i=1}^n A_i = \sum_{i=1}^n B_i = I$. Then for $0 < t < 1$,

$$S(\mathbb{A}|\mathbb{B}) \leq I_{t,r}(\mathbb{A}|\mathbb{B}) \leq J_{t,r}(\mathbb{A}|\mathbb{B}) \leq T_{t,r}(\mathbb{A}|\mathbb{B}) \leq 0$$

holds if $0 < r \leq 1$, and also

$$S_{0,r}(\mathbb{A}|\mathbb{B}) = T_r(\mathbb{A}|\mathbb{B}) \leq J_{t,r}(\mathbb{A}|\mathbb{B}) \leq I_{t,r}(\mathbb{A}|\mathbb{B}) \leq T_{t,r}(\mathbb{A}|\mathbb{B}) \leq 0$$

holds if $-1 \leq r < 0$.

References

- [1] J.I. Fujii and E. Kamei, *Relative operator entropy in noncommutative information theory*, Math. Japon., **34** (1989), 341–348.
- [2] T. Furuta, *Parametric extensions of Shannon inequality and its reverse one in Hilbert space operators*, Linear Algebra Appl., **381** (2004), 219–235.
- [3] F. Hansen and G. K. Pedersen, *Jensen’s operator inequality*, Bull. London Math. Soc., **35** (2003), 553–564.
- [4] H. Isa, M. Ito, E. Kamei, H. Tohyama and M. Watanabe, *Relative operator entropy, operator divergence and Shannon inequality*, Sci. Math. Jpn., **75** (2012), 289–298. (online: **e-2012** (2012), 353–362.)
- [5] H. Isa, M. Ito, E. Kamei, H. Tohyama and M. Watanabe, *Extensions of Tsallis relative operator entropy and operator valued distance*, Sci. Math. Jpn., **76** (2013), 427–435. (online: **e-2013** (2013), 427–435.)
- [6] H. Isa, M. Ito, E. Kamei, H. Tohyama and M. Watanabe, *Generalizations of operator Shannon inequality based on Tsallis and Rényi relative entropies*, Linear Algebra Appl., **439** (2013), 3148–3155.
- [7] M. Nakamura and H. Umegaki, *A note on the entropy for operator algebras*, Proc. Japan Acad., **37** (1961), 149–154.
- [8] K. Yanagi, K. Kuriyama and S. Furuichi, *Generalized Shannon inequalities based on Tsallis relative operator entropy*, Linear Algebra Appl., **394** (2005), 109–118.

(Masatoshi Ito) Maebashi Institute of Technology, 460-1 Kamisadorimachi, Maebashi, Gunma 371-0816, JAPAN

E-mail address: m-ito@maebashi-it.ac.jp

(Hiroshi Isa) Maebashi Institute of Technology, 460-1 Kamisadorimachi, Maebashi, Gunma 371-0816, JAPAN

E-mail address: isa@maebashi-it.ac.jp

(Eizaburo Kamei) 1-1-3, Sakuragaoka, Kanmakicho, Kitakaturagi-gun, Nara 639-0202, JAPAN

E-mail address: ekamei1947@yahoo.co.jp

(Hiroaki Tohyama) Maebashi Institute of Technology, 460-1 Kamisadorimachi, Maebashi, Gunma 371-0816, JAPAN

E-mail address: tohyama@maebashi-it.ac.jp

(Masayuki Watanabe) Maebashi Institute of Technology, 460-1 Kamisadorimachi, Maebashi, Gunma 371-0816, JAPAN

E-mail address: masayukiwatanabe@maebashi-it.ac.jp